)

L. Multiple Choice Questions

L The wall of the trachea (

: : indpipe) and bronchi of man is furnisheq with
Yeries of incomplete: .
(a) cartilaginous plates (b)  chitinous ring
() cartilaginous rings (d)  muscular

i What does not happen during in spiration in man?
(a) intercostals muscles contract (b) ribs are elevated ~
; : A1
(©) diaphragm becomes dome-shaped (d)  ribs move forwards
(17 The lateral walls of the chest cavity of man are composed of the:
(a) nbs
(b) intercostals muscles
(¢) nbs & Intercostals muscles
(d) nbs, Intercostals muscles & diaphragm

When the human blood leaves the capillary bed of the tissue, most of the
carbon dioxide is in the form of:

- (a) carbonic acid (b) bicarbonate ions
(¢) carboxylicacid (d)  noneofthem
Which sequence of organs is correct in air passageway of man?

(a) nasal cavities larynx pharynx trachea bronchi

(b) nasalcavities pharynx trachea larynx bronchi
() nasalcavities pharynx larynx bronchi trachea
(d)  nas al cavities pharynx larynx trachea bronchi

| bronchioles (b)  distal region of bmﬁ
mxnmal regionofbronchi  (d)  trachea

hgv are spongy due to the presence of million of :

bronchi (b) alveoli

-%i}onchiolcs (d) trachea

o . . 2 2 , “‘
part of the air passage way possesses cartilage plates in ifs r% »

B ix.
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Vultinle chol estion

(i) Shifts in water-solute balance are managed primarily by
(a) lc.&;|)i|:|l.()|y system 7  theurinary system
(¢) endocrine adjustments (d)  thecirculatory system

1. * ’ s . » ﬁ’ ‘
(i)  Whichisthe mostimportant mechanism for water loss from the body?

(i)  excretioninurine (b)  sneezing
()  sweating (d)  eclimination in feces

@iii)  The process that normally exerts the greatest control over the water
balance of an individual is

(a) sweating,. )  kidney function.
(¢) evaporation through the skin. (d) respiratory loss.

(iv)  Which of the following does N OT dispose off a type of waste directly to the

environment?
(a) digestive system (b)  respiratory system
ey circulatory system (d)  urinary system

(v)  The most toxic substances routinely found in the blood are metabolites
of what type of molelcules?

_kaJ  proteins (b)  carbohydrates
(¢) nucleic acids (d) Fats

(vi)  Which of the following is the last structure that urine passes through
during its excretion from body?

(a)  distal tubule «Ab)  urethra
(c) urinary bladder (d) ureter

(vii)  The process during which potassium and hydrogen ions
substances are putinto urine is called i

A®)  tubularsecretion. (b) reabsorption.

(¢) filtration. (M) - connterours







Kidney health is described in terms of

(viii) ;
(@)  thenumberofkidney stones. _AkbJ  rate of filtration.
()  waterretention. (d) bloodclot

(ix)  Why is there no glucose present in the filtrate in the distal tub
' nephron?
(@)  itsmoleculesare too large to pass across the basement mex
(b) itisremoved by osmosis from the tubule g
(€) itis passively absorb by the cells lining the
Henle

B itisactively absorb by the proximal tubule cells

2 _',' ding the loop of

(x) In case of overheating, the body temperature is regulaw..
(a) more sweating and more urination

v  more sweating and less urination
(c) less sweating and more urination
(d) less sweating and less urination

(xi)  An animal that warms itself mainly by absorbmg heat from iz
surroundings is known as:

(a) homoiotherm v(—b'f ectotherm
(c) endotherm (d)  none of them
2- Short Questions.

it i foraliving being to maintain jt« ; :
(i) Why 1t 1s necessary for ng g ain its interng] envirorimen SN
fairly constant level?

(ii)  How positive feedback can be harmful at times?
(iii)  Describe mechanism of ultrafiltration.

(iv) How regulation of blood flow to skin is
temperature?
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rt and Movement
XERCISE 2

The disorder in which bones are porous and thin but bone comp

‘ : osition
pormal is; '

(a) osteomalacia (b)  osteoporosis

(c) rickets (d) arthritis

The organic portion of bone's matrix is important in pres

(a) tensile strength (b) hardness - -

(c) to resist stretch (d) flexi 6"“}' | \ 2

The remodeling of bone is a function of which cells?
(a) chondrocytes and osteocytes (b)  osteoblasts and osteoclasts
(¢)  chondroblasts and osteoclasts (d) osteoblasts and'ostcocytes

In skeletal muscle, calcium facilitates contraction by binding to

(a) tropomyosin (b) actin.

(¢) troponin. (d) myosin.

Which of the following statements concerning the role of Ca” in the

contraction of skeletal muscle is correct?

(a) The mitochondria act as a store of Ca™ for the contractile process

(b) Ca” entry across the plasma membrane is important in sustaining
the contraction of skeletal muscle

¢)  Arise in intracellular Ca”allows actin to interact with myosin
d)  The tension of a skeletal muscle fibre is partly regulated by G
proteins
muscle

The function of the T tubules in muscle contraction is to

(8)  make and store glycogen 7 ;
(b)  release Ca” into the cell interior and then pick it up again
(©)  make the action potential deep into the muscle cells .
(d)  to hamper the the nerve impulse |

The sites where the motor nerve impulse is transmitted Jt
?fnpmmmma '

/

Vil







Multiple choice { : ?
u. p & followi"g is common 10 all neurons . it
Which of  tainsanucleus (b) A thickmyelj

(i) hichc -
Acellbody ¥ "Ranvi d) Presenceof§ (
\fg‘ presence of nodes 01 Ranvier (d) of y
(i)  What will occur if a drug at the " s romusculs;lrj _ (
receptor sites on the post-synapiic membrane: ;
() Inhibitionof Acetylcholine release  (b) Muscle cont (

()  Muscleparalysis (d) Release ofc:
(
i : (

(iii)  The groups of ribosomes present in the cell body of th neu

are associated with rough endoplasmic reticulum are called: (
(@)  Meissner's corpuscles (b)  Pacinian cor (
L(&¥~ Nissl's granules (d)  Lysosome (
; (:

(iv)  The mammalian forebrain is di ; 2 hal
system and the: # &5 differentiated NSRS, 3
(@  Cerebellum (



. 1. Chaoice Questions L
Multiple Choic Q ing condition 1S resu

lted from excess GHin
Which one of the follow F

Y adults? : uﬁ{ acromegaly | ' ()
(a) Cushing's dlsgase @ diabetes mellitus
(c) hyperthyro idism I . M
. regulates the kidney sr etentiqn of Waler. 3 o n hum@
() P (b) oxytocin _
e (o “eopresin (4D 0
() Yy : | Shor
(iii)  Which of the following hormones is not released by the anterior (i)
pituitary? . , (if)
\a)~  melanocyte-stimulating hormone f oS tes &y Pe fva"w] (i)
(b)  gonadotropin-releasing hormone e» AD H fou N (iv)
(¢)  thyroid-stimulating hormone a-OrY )
(d)  growth hormone z') Long
i
(iv)  Parathyroid hormone acts to ensure that Desc1
((a  calcium levels in the blood never drop too low (i l;:npol
(b)  sodium levels in urine are constant (i Xple

(¢)  potassium levels in the blood don't escalate
(d)  the concentration of water in the blood is sufficient

(v) The adrenal cortex produces
(@)  adrenaline ®)  calcitoni
(¢) epinephrine al;(;s(t): h
rone

(a)

goiter

(@) exophthaim c









(i)

(ii)

(iii)

(iv)

)

(vi)

(vii)

Multiple Choice Questions

. ’ ’ " r (g
' i esponsible for the . ; L 4

Gonadotropin releasing hormone is responsible for the Stimulatigy, |

of which hormone?

(s) LH

(b)  Progesterone

(¢) Secretin

(d)  Insulin

Fertilization of the ovum normally occurs:

(@)  Intheupper third of the oviduct

(b)  Intheuterus

(c) Inthe lower third of the oviduct

(d)  Cantake place successfull yinvagina
The human egg is s weptthrough the oviduct toward the uterus by
(@) Thebeating of the eggs'cilia,

(b)  Rhythmic contraction of the oviduct.

(¢) Rhythmic contraction of the uterus,

(d) The beating of the cilia in the oviduct,
Embryo implants in the of the uterus
(a) Perimetrium

(b)  Myometrium

(¢) Endometrium

(d) Cervix

Which will occur ay aresult of nondesceny

(a) Male scx.honnones will not pe cucugttchdeiltle t‘:lte 4
(b) Sperm will have no means of exit f, the -
(¢)  Inadequate blood gy

pply will retar,
(d)  Viable sperm will not be produced,d e devay
The corpus luteum is Jormed at the site of
(a) Fertilization

(b) Ovulation

(c) Menstruation

(d) Implantation
Within the ovary, progesterone is produced by the
(a) corpus albicans, (b) corpus hltcum, -
(¢) tertiary follicles (d) primary follicles.

e T
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Blood group B phenotype contains anti-A antibodies in the sepyy, o
(i) ood § v |

agglutinates any RBC with antigen: ) o ( )
(a; ‘/: B @ B d L
(¢ ' birth are: E ™ . i
i Chances for a son or daughter in human : - |
o (a)  3:1betweensonand daughter (b) 13 between o and (®)
daughter Y | (0)
(¢)  1:1betweensonand daughter (d)  Noneofthem 1
(iii)  Thenumber of linkage group in man is: ,, nh
(@) 02 (b) 23 - LA i
(¢) 46 (d) 92
(iv)  Aman of blood group A marries a woman of blood group B and they hav'e 3 (®)
one child. Which one of the following statements about the child's bloodis (c)
correct? ! ko She
(a) It could be group A only 1 (])
(b)  Ttcould be group AB only _ (i)
() Itcould be group A or Group B only 1

(d) it could be any of the groups A, B, AB, O. 1
%) How many different kinds of gametes will be formed by an individual, "' {

is heterozygous for four gene pairs: (iv)
" . b) 16
e LN d) 30 )
(vi) A woman with norma @

I colour vision, wh n col ;
blind, married a red.gr » wiose father was red-gree
first-born child beinég o erorour-blind man. What is the probability of

© 0.0 b 075






ii)

(iii)

(iv)

(v)

(vi)

(vii)

ryotic. mRNA molecule there are 90 nucleotide %

centrifugation it made sediments atthe:
(a) Top : (b) Bottom
Intermediate (d) Top & intermediate
Which of the following act as a stop codon?
. UGG ) UGC
: UAG : ). .~ R
In mitochondria U GA codon act to specify ------- instead stop codon:
W) Argenine (b)  Valine
¢)  Glutamicacid Trytophan

EXERCISE &

thun

‘i‘eigi"i |

(altiple Ch : ee arms IS ¢
:: n’ ; ,:on:os‘om" b equal length of its arms s ¢ alled:
¢ ~
(2) Metacentric AD) Sub metaceny;
(d)  Telocentuig

(©) Acrocentric : d locentr
In Hershey & Chase e.\pertment., PP Ial{e{ed bacteriophag
infectthe bacteria. During analysis P activily was detected:
L Ll culture medium

(b) Onthe surface of bacterial cell

Inside the bacterial cell

(d) Botha &b
In Meselson & Stahl experiment, the DNA from sample at 20 minutes, afyy

I the amount of adenine in DNA of a bacterial cell is 36% of the totd

- genous bases, what will be th =34 12
in e amount of gu NA of a ¢t
I nextgeneration: fg aninelin theD f

14%
(c) 36% 83 248].(:)?
I/ . : 4 ‘
tfi:?m':nlf Zl:]:mlz synthes'zzed with all the different codons, what I8 W,
er of amino acids in the protein that is formed bym ' .

64 Amino acids : :
/

translation process, W,
. What i
Sformed by this mRN A '"O;Zcicsl etile number of amino

(a) 29 amino acids - o
(©) 45 amino acids W) 30 amino acids
| o 9 amino acids

(x)

(iij

(iv>
(v)
(vi)
(vij
(vij







Evolution

EXERCISE? . =

! . The random loss of alleles in a population is called

(a) Mutation (b)  Selection
(c) Gene flow (d) Genetic drift
(i) Human appendix, coccyx and nictitating membrane of the eye are:
(a)  vestigial organs (b)  homologous organs '
(c)  analogous organs (d) embryonic organs

(iiy The existing species are the modified descendants of pre- existing ones
according to:

(@) Theory of special creation  (b) theory of organic evolution
()  uniformitarianism (d) theory of catastrophe
(iv) Using the Hardy-Weinberg Principle, which expression represents the
frequency of the homozygous recessive genotype?
i P (b) 2pq
© g @ q
(V)  Which one of the following would cause the Hardy-Weinberg principle
to be inaccurate?
(@)  The size of the population is very large.
(b)  Individuals mate with one another at random.
(¢)  Natural selection is present.
(d)  There is no source of new copies of alleles from outside the

.. population.

- M) The study of birds is:

(@)  omithology (b)  ichthyology
(©)  herpetology (d)  entomology

| ) Simitar itv in characteristics resulting from common ancestry is known

f as:

(@)  Analogy (b) Homology

(©) Evolutionary relationship (d) Phylog.enyw;
Parts of the body use extensively to cope with the enwronm.ent
ome larger and stronger, while those that are not used deteriorate

Was argued by:

@ Charls Darwin ()  AlfredWallace

) Carolus

\\\\“
i -
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Multiple che

Achangeinthe community SIrUcture of an ecosystem over a period Of time

is: : ‘
(a)  Ecological niche (b) E‘Lologlcal‘m :
(c)  Succession (d)  Genetic dnft
In succession lithoseres takes place on. -

(a) Sand (b)  Water

(c) forest floor (d) Bar e rOf:ks
The amount of energy left after plants have met their respiratory needs
is net sprimary production, which shows up as plant:

(a)  Respirationrate (b) Photosynthesis rate
(c) Biomass (d) Food reserve
Which statement defines the net primary production in an ecosystem over
a given time period?

() The total amount of organic matter in all organisms present.

(b)  The total amount of organic matter in the plants in excess of that
used in respiration

(c) The total amount of organic matter used in respiration by all the
organisms present

(d)  The total amount of photosynthetic product from all plants

What would be expected to happen if all the nitrogen- fixing organisms

ceased to exist?

(a)  There would be no significant change in numbers of animals

()  Thetotal biomass would be reduced.

(c) All organisms would die out.

() : The nitrogen level of the atmosphere would be increase.
Which of the following is NOT recycled in ecosystems?

-4

(a) Carbon ()  Sulphur
(¢)  Energy . @)  Water -

The best way to increase food production from ecosyste w is.
(a)  toincrease cultivable land by clearing forest o

(b)  use of excessive fertilizers
(¢)  use of high quality pesticides
(d) ‘mofgmeﬁeallyimpmvedvuieﬁesofweds

R i . S
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Munltiplhe < hadve guosti

The Dpe of KW WAV

2 i };‘i.\i‘\ i\ ¥
Slne vy\hs“ = () DNA  poly
c“\:v AN i

() N/

(©  polyacrylamide l () "“N \“H‘;

e ’ b re of O Yo hond ledyvriang prodheet

Coll N\ BN L AL ARL oo
- - * () Digitoxin

a) LTINS
{ X () At loxin

(«) Polhwdnn :
Dideaxy  ridonuciennide piphosphates are used do terminate DAY
symsheniy @t different sive, W hich method involves this procedure!

(a) Maxam-Gilbert's method (h) Sangar's method

(© KB Mullis's Method () Gottheb's method
The gene of cheice can alve be synihesiced in the laboratory from mRNA,
wsing reverse ramscripiase. This DN Amolecule is called:

(a)  Complementary DNA (h) Rephoative DNA

() Synthetic DNA (d) ssDNA

The gene of imterestis joined with the secky ends produced after cutting the
plasmid with the help of another special engyme known as;

unn!«n!t“ waed  Jor  shnig ﬂ’ﬂnmi’ﬂ' ”N

(a8)  DNA ligase (b) DNA polymerase
() Restriction endonuclease () Reverse transeriptase
Fhe enzpme DNApolymerase can work only in

(a) 3' 15" direction (b) S A direction

() Both the direction (d) S LS direction

In mvaq«_m DNAvechnology a plasmid vector is cleaved by
(@) Modified DNA ligase
(b) A heated alkaline solution

(¢) ’ljhe same enzyme that cleave the donor DNA
(d)  Thedifferent enzyme other than that cleave the donor DNA

Thma_:;‘ agquaticus is the source of ”
(a) aq polumerase
(¢)  bothaandb :g; v%

The complete set of chromosom v |
organism is called: al and extrachromosomal g

(a)  Genome ¢
(b)  Genepool
(¢)  Genebank (@)  Gene library
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